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Eiua“l';ons in One Variable

Div'\cl'mg \07/ a function

We can divide \O)/ o function, but on\/ when
i'I"S not 2evo. \»/L\en it IS Zeo 1S ano‘l‘lﬂer matter.
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() sin(\)=¢c and cos(x)=c have inQihi‘i’e.‘)/ many
solutions if ce[-1,0].
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Conics

E/IEFseS, kﬂ)erbolas, an& Farabolas are the

non deﬂen evate conics.
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() (a+ib)+(c+id) = (arc)+i(b+d)

) To find (O.+ib>(€+i<1>, use the distributive law

ond that 2%=-].

Norms

Ix+i3[ = \, 12+?2
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Mu\ﬂflicaﬁo;a in Fo\ar <;oorcl‘ma+es

Mu|+ipl)/ norms and  add anjles.
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s(cos(a) +isin(x)) X Y‘(COS(Q)’risin(e)) = sr Cos(o(+6>+isin(o(+6>

Powers o—v- numbers on the unit ciccle

To -?'mc\ +he n-+h Power, 2 e
add the OY\S\Q n- times.

Common COW\P\QX numbers on the unit civcle




